
④
In

y ☒"width÷
A-=L.w

" length

1000ft offence -72×+34=1000
AIX)=(✗Ky )

AIX)=(x)(1000¥) 2×+34=1000

34=1000 -2x

4=10003--24Graph results next
page. . . .
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"

inft, greatest Areainft
A >

Domain:(0,500)

R Range:(941666.667]

F-

A

(ft)

when"x
"

iszerosthecis when"x"iss00,

✓
no area theeisnoarea

→

valued "×"in feet
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⑧

width

A- law
"

length
1200ft offence -72×+44=1200
A :(xxx) I
ACX)=(X)(120,0¥) 2×+44=1200

44=1200-2x

y=l200y-2✗_Graph results next
page. . . .
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←grealestaeainftz

A
"

✗
"

in feet

R

F- Domain :(0,600)

Range :(0,45000]
A

(ft) when"×
"

is 600
,
there

←
when

"

✗
"

iszeroitheeisnoarea is no area
. ↳

Value of
"

✗
"

infect



④
I

✗ interior ×

=
interior wall -7511125 pofoot
exterior wall→ $175 per foot

A-=D.w Shaded area is 4000ft '

✗ • 4=4000 cost-475124) -117512×7-11258
cost -_ 3504-1350×+12511y=4¥ CCX) -- 3504+47511
CLX)= 350140¥) -147511

Graph results next
page . . . .



c
Domain (QD)

0 Range [51575.19;D

S

T
T.iiii.it654.29ft 'sa 51,575.19

Valveafiiinfeet.



⑧ ✗
Brick

Bricky ✗

Brick

y fence

Brick wall -751120ft
Fence -75119ft
shaded area is 125ft'

A=liw Cost__ 2012×7-1204+194
125=114 11×7=40×+294
4=12×1 ( lx)-- 40×+2942×-9

Graph results next
page . . . .



C

0
Domain (0,8)

S Range [76158,0)

T
y

9.52ft

→
the lower cost is $761.577

Valued
"

✗
"

in ft.



⑤
← y=x?4

iii.
"

oid-F-x.EE
•

;D
d=RÉ+y'

"
'
• (x,y)
Xayz

dlxt-FF-4-0.dk)=F×É

/
* Nose there are
two ✗- values that
result in the shortest

distance
.

x-vaT-shortestx-vas-hortestDomainc-D.io
distance distance Range [ 1.94,@



⑤
iii.Ii ^hy=r×
•

*÷¥
d=FEÉÉ
d=rÉÉ

dlx)=☒ÉF

dlxt-F.FI

Domain 10,00)

Range [ 0.87,

✗-val shortest distance
.


